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I. Look at the given pictures and fill in the blanks. 
 

a)  

 
  
 
Number of groups: _________ 
 
Number of snails in a group: ______ 
 
Total number of snails  = ____ + _____ + _____ + _____ = ______ 
 
                                        =  ____________ × __________ = _____ snails 

    
 

b)  

 
 
 
Number of cartons: _________ 
 
Number of mangoes in a carton: ______ 
 
Total number of mangoes  = ____ + _____ + _____  = ______ 
 
                                             = __________ × _________ = _____ mangoes 
 

 
II. Fill in the blanks. 

a) 8 times 5 = _____ × ______ = ______     b) 9 twos = _____ × ______ = ______ 

c) 4 times zero =_____ × ______ = _____   d) 7 ones =_____ × ______ = ______ 

e) 6 tens =_____ × ______ = ______     
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III. Write the multiplication sentence that represents the rabbit’s jump on the     
  number line.    
  

a) 
 
 
 
  
                                  _____ × ______ = ______      
 
   

b)  
 
 
 
 

                                          ______ × ______ = ______  
 

          

IV. Multiply.   

a)                 T    O 

                    9 

   X               4           

      
    _________________ 

 b)                 T    O 

                      7 

    X                6           

 
 ____________________ 

c)                  T    O 

                2    3 

    X                3 

 

 

d)        H     T    O 

               8    1 

    X               5  

        
     _________________  

e)             H     T    O 

                  4    0 

    X                  4 

f)              H     T    O 

                  5    2 

    X                  6 

 

       

CHECKED BY: ACADEMIC COORDINATOR- MATHEMATICS 



ISWK-Primary/Department of Mathematics (2022-2023)  

INDIAN SCHOOL AL WADI AL KABIR 

DEPARTMENT OF MATHEMATICS (2022-2023) 

TOPIC: MULTIPLICATION 

RESOURCE PERSON: Ms. Rainha Peter 

WORKSHEET 

NAME:  CLASS: III SEC:  DATE:   

 

 
 

I. Solve and choose the correct answer. 
 

a) 8 + 8 + 8 + 8 can be written as: 
 

(i) 8 × 4 (ii) 8 × 8 (iii) 4 × 8 (iv) 8 + 4 

 
 

b) One car has 4 wheels. 29 cars will have wheels. 
 

(i) 29 - 4 (ii) 29 × 4 (iii) 29 + 4 (iv) 29 ÷ 4 

 
 

c) If 2 × 34 = 68, then 20 × 34 =   
 

(i) 6800 (ii) 6080 (iii) 68 (iv) 680 
 

 

d) 8 × 7 
 

(i) > 

9 × 9 
 

(ii) < (iii) = (iv) None of these 
 
 
 

e) There are  months in 10 years. 

(i) 100 (ii) 102 (iii) 120 (iv) 60 
 

II. Fill in the blanks with the correct answer. 
 

a. 8 × 40 =   b. 522 × __________ = 522 

c. 975 ×  = 0 d. ________ × 7 = 56 

e. 5 × 600 =   f. 9 × __________ = 900 
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a) 212 × 4 b) 130 × 7 c) 119 × 5 

d) 406 × 9 e) 327 × 6 f) 425 × 8 

 Th H T O 
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III. Arrange and multiply: 
 

 
 

 
 

 

   
 
 

 

 

 

 
      Solve the following word problem. 
   1. An orchard has 7 rows of trees. If each row has 105 trees, how many trees are there in all? 
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